662/Chem UG/5th Sem/CHEM-G-DSE-T-1/20

U.G. 5th Semester Examination - 2020
CHEMISTRY
[PROGRAMME]
Discipline Specific Elective (DSE)
Course Code : CHEM-G-DSE-T-1
Full Marks : 40 Time : 25 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five questions: 2x5=10
- #A1ofs Qe Ted w6 ¢

a) What do you understand by common-ion

effect?
-SRI IS A0S < (12

b)  What is R, value in connection to thin layer
chromatography?
{27 (=TT CINIBIEE foepaiel Amfors R, @els wice
& @RI

c) Explain the principle of operation of a cyclone
collector.
gefiare Falza FsifEe sl e 7

d) What is reverse osmosis?
Refde Sifemae “&e Te0e & @Ri2
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e) What do you understand by binary number
system?
fags-7124yl PTG <@ice <6 (a2
f)  What is standard deviation? Give the
mathematical expression.
S AL FIE 061 2 G ANelfes wfeie @4 |
g)  Why 'antiknock' compound is mixed with fuel?
TG (T GIETia AN G 28 (@ 2
h)  Explain the term 'vitrification'.
TR F@10e & @RIE— i |
2. Answer any two questions: 5%x2=10
@I 76 &eE O wie 2

a)  Describe the gravimetric method of estimation

of chloride and barium. 21+21=
(ofers REsReR MR @RIZT G3R (@RI
sifaiiel fefa Far afen® a1

b)  What is green house effect? Why is it so called
Name the gases responsible for green house
effect. 2+1+2=5
el 21T eel] TwICe 6 (@RI? 2R (e <@ =2 Al
BIG oI B! aliTeslers A 12|

c)  What are the differences between accuracy and

precision? What do you understand by

'Determinate errors'? 3+2=5
FeETel 93 IANLTIT ANLFTef TrEed F7 |
sAfssiioicatsy @ Ie10e F @R e
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3. Answer any two questions:

What is superphosphate? Give the reaction for
preparing superphosphate. What are the uses of
ammonium nitrate? 2+1+2=5
FAATRFICED FIE A0 2 G 2o [t
(1Y | STCIRS AREGE TR AR (=1 |

10x2=20

@-(FIC 76 &F Ted wie ¢

a)

b)
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What is meany by metal-ion indicator? Explain
the mechanism of colour change of metal-
indicator in EDTA titration. Give the chemical
structure of EBT. Write the principle for
estimation of calcium and magnesium in a
mixture by complexometric titration. Name
one acid-base indicator and one redox.
24+2+1+3+42=10
IR S s @109 5 (DRI 2 EDTA-BIRGHT
e a3 oS »afel e 41 EBT
G APRF 91996 @14 | Fcz il BREGHH safors
Ca® + Mg Tiecss fezaolel i ifefb =14 | 9(0
STH-TI G G SriRel-Rrerel oIt a1 @19
Explain the term stratosphere. What do you

understand by ozone-layer depletion? Explain
its mechanism. How do you estimate DO in a
sample of water? How is acid-rain produced?
2+3+3+2=10
DIHGIFETR w0 i 9 | SIS BEF F 09
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What do you understand by random error? What
do you understand by Primary memory of a
computer? Explain in detail. Classify computer
languages. What do you understand by
Application software and System software?
2+3+2+3=10
I-RIFe Fb e F @RI FETHIERT I
ST TET0e 6 (IR 2 R il 5 | FITo
SCAIRICST ARSI (779 | Syifea 3 Fess
TEHEIF @00 6 (=2

What is coal carbonisation? Write down the

method of purification of coal gas after its
generation in the oven. What is LPG? How is
LPG recovered from natural gas? Write down
the composition of Aviation gasoline.

2+3+3+2=10
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